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NCERT - NCERT CHEMISTRY(HINGLISH)

SOME BASIC CONCEPTS OF CHEMISTRY

Solved Example

1. A piece of metal is 3 inch (represented by in) long. What is

its length in cm?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Sui0KAdE0SsE

2. A jug contains 2L of milk. Calcualte the volume of the milk

in m®

o Watch Video Solution

3. How many seconds are there in 2 days?

O Watch Video Solution

4. The molecular mass of glucose (CgH1504) molecule to

three significant figures is

o Watch Video Solution



https://dl.doubtnut.com/l/_EmrgkXwn15WU
https://dl.doubtnut.com/l/_EOH68797LhQM
https://dl.doubtnut.com/l/_2gmVNEC13VPJ

5. A compound contains 4.07% H, .24.27% C, and
71.65 % CI. If its molar mass is 98.96, the molecular formula

will be

° Watch Video Solution

6. Calculate the amount of water (g) produced by the

combustion of 16 g of methane

o Watch Video Solution

7. Consider the following reactions,

CHy(g) + 20:(g) — COs(g) + 2H,0(g)


https://dl.doubtnut.com/l/_fyODP92ZSLM6
https://dl.doubtnut.com/l/_Y1TJagEyA14j
https://dl.doubtnut.com/l/_BjwFd40DoGmn

How many moles of methane are required to produce 22g of

CO4(g) after combustion?

O Watch Video Solution

8.50.0kg of Ny(g) and 10kg of Hy(g) are mixed to produce
NHjs(g). Calculate the NH;3(g) formed. Identify the limiting

reagent.

O Watch Video Solution

9. A solution is prepared by adding 2 g of a substance A to

18 g of water. Calculate the mass per cent of the solute.

° Watch Video Solution



https://dl.doubtnut.com/l/_BjwFd40DoGmn
https://dl.doubtnut.com/l/_CbfJW2sBEOvB
https://dl.doubtnut.com/l/_eEteujXNoC8W
https://dl.doubtnut.com/l/_msEHHUhBoIoC

10. Calculate the molarity of NaOH in the solution prepared
by dissolving its 4 g in enough water to form 250 mL of the

solution.

° Watch Video Solution

11. The density of 3M solution of NaCl is 1.25gmL~!. The

molality of the solution is

O Watch Video Solution



https://dl.doubtnut.com/l/_msEHHUhBoIoC
https://dl.doubtnut.com/l/_KPriGmbzthhB

1. Calculate the molecular mass of the following:
a. HQO
b. CO,

C. CH4

0 Watch Video Solution

2. Calculate the mass precent of different elements present

in sodium sulphate (NaySOy).

° Watch Video Solution

3. Determine the empirical formula of an oxide of iron which

has 69.9 % iron and 30.1 % dioxygen by mass.

| & S |


https://dl.doubtnut.com/l/_2yXlLLhwI7N9
https://dl.doubtnut.com/l/_v9KZUbjUupIk
https://dl.doubtnut.com/l/_HOQ646v9dA2n

[ W Watch Video Solution ]

4. Calculate the amount of carbon dioxide that could be
produced when

a. 1 mol of carbon is burnt in air

b. 1 moles of carbon is burnt in 169 of dioxygen.

c. 2 moles of carbon are burnt in 16¢g of dioxygen.

° Watch Video Solution

5. Calculate the mass of sodium acetate (CH3COONa)
required to make 500mL of 0.375 molar aqueous solution.

Molar mass of sodium of acetate is 82.0245gmol ~*.

° Watch Video Solution



https://dl.doubtnut.com/l/_HOQ646v9dA2n
https://dl.doubtnut.com/l/_P0wuKlYQtYtT
https://dl.doubtnut.com/l/_jBT95ECaKJw6
https://dl.doubtnut.com/l/_uLx9G0QmQpwi

6. Calculate the concentration of nitric acid in moles per
litre in a sample which has a density 1.41gmL ™' and the

mass percent of nitric acid in it being 69 % .

° Watch Video Solution

7. How much copper can be obtained from 100g of copper

sulphate (CuS0,)?

O Watch Video Solution

8. Determine the molecular formula of an oxide of iron in
which the mass percent of iron and oxygen are 69.9 and

30.1, respectively.(molecular mass is 159.8).

s ]


https://dl.doubtnut.com/l/_uLx9G0QmQpwi
https://dl.doubtnut.com/l/_q2sBJ2DrK4rt
https://dl.doubtnut.com/l/_Re9sduYkPi9S

[ o« Watch Video S>olution ]

9. Calculate the atomic mass (average) of chlorine using the

following data:

% natural abundance Molar mass
35l 75.77 34.9689
37Cl 24.23 36.9659

° Watch Video Solution

10. In three moles of ethane(CyHj), calculate the following:
(i) Number of moles of carbon atoms.
(ii) Number of moles of hydrogen atoms.’

(iii) Number of molecules of ethane.

° Watch Video Solution



https://dl.doubtnut.com/l/_Re9sduYkPi9S
https://dl.doubtnut.com/l/_GZNZvzT06EtT
https://dl.doubtnut.com/l/_rZ6vOWWyQHjj
https://dl.doubtnut.com/l/_2K26m3Zfji8T

1. What is the concentration of sugar (Ci3H5,011) in
molL ! if its 20g are dissolved in enough water to make a

final volume up to 2L?

0 Watch Video Solution

12. If the density of methanol is 0.793kgL ' what is its

volume needed for making 2.5 L of its 0.25M solution?

0 Watch Video Solution

13. Pressure is determined as force per unit area of the

surface. The ST unit of pressure, pascal is as shown below:

1Pa = Nm 2


https://dl.doubtnut.com/l/_2K26m3Zfji8T
https://dl.doubtnut.com/l/_cjionkVbPyCH
https://dl.doubtnut.com/l/_Dk8a3ZlQ61c3

If the mass of air at sea level is 1()34gcm_2, calculate the

pressure in pascal.

O Watch Video Solution

14. What is the ST unit of mass? How is it defined?

o Watch Video Solution

15. Match the following prefixes with their multiples:
Prefixes  Multiples

(i) micro  10°

(i7) deca 10°

(441) mega 1076

(iv) giga 1071

(v) femto 10

° Watch Video Solution



https://dl.doubtnut.com/l/_Dk8a3ZlQ61c3
https://dl.doubtnut.com/l/_NSOM7z6EuL0X
https://dl.doubtnut.com/l/_FzTfG45PRETQ

16. What do you mean by significant figures?

0 Watch Video Solution

17. A sample of drinking water was found to be severely
contaminated with chloroform, CHCI3, supposed to be
carcinogen. The level of contamination was 15 ppm (by
mass).

(i) Express this in per cent by mass.

(ii) Determine the molality of chloroform in the water

sample.

° Watch Video Solution



https://dl.doubtnut.com/l/_FzTfG45PRETQ
https://dl.doubtnut.com/l/_OCAVhN9WJvhf
https://dl.doubtnut.com/l/_tUtz8edtZ3ZM

18. Express the following in the scientific notation:
a.0.0048

b. 234000

c. 8008

d. 500.0

e. 6.0012

° Watch Video Solution

19. How many significant figures are present in the
following?

a. 0.0025

b. 208

c. 5005

d. 126000


https://dl.doubtnut.com/l/_te2PY6wOdPeV
https://dl.doubtnut.com/l/_4uKL5yzwgpTc

e. 500.0

f.2.0034

0 Watch Video Solution

20. Round up the following upto three significant figures:
a. 34.216

b.10.4107

c. 0.04597

d. 2808

o Watch Video Solution

21. The following data are obtained when dinitrogen and

dioxygen react to gether to form different compounds:


https://dl.doubtnut.com/l/_4uKL5yzwgpTc
https://dl.doubtnut.com/l/_FQdeSIojkYmF
https://dl.doubtnut.com/l/_jn8vjGRSl1Zr

Mass of dinitrogen =~ Mass of dioxygen

i. 14g 16g
1. 14¢g 32g
111. 28¢g 32¢g
0. 28g 80g

a. Which law of chemical combination is obeyed by the
above experimental data? Give its statement.

d. Fill in the blanks in the following conversions:

0 Watch Video Solution

22. If the speed of light is 3.0 x 10%ms !, calculate the

distance covered by light in 2.00ns.

o Watch Video Solution



https://dl.doubtnut.com/l/_jn8vjGRSl1Zr
https://dl.doubtnut.com/l/_KqbjcJrrWvB9

23.In a reaction

A+ By — AB,

Identify the limiting reagent, if any, in the following reaction
mixtures.

a. 300atoms of A + 200 molecules of B

b.2molA + 3molB

c. 100atoms of A + 100 molecules of B

d. 5molA + 2.5molB

e.2.5molA + bmolB

o Watch Video Solution

24. Dinitrogen and dihydrogen react with each other to
produce ammonia according to the following chemical

equation:


https://dl.doubtnut.com/l/_3CyyCSWWU5bI
https://dl.doubtnut.com/l/_GlALUONbCFC5

Ny(g) + 3H(g) — 2NH;(g)

a. Calculate the mass of ammonia produced if 2.00 x 10°g
dinitrogen reacts with 1.00 x 10%g of dihydrogen.

b. Will any of the two reactants remain unreacted?

c. If yes, which one and what would be its mass?

O Watch Video Solution

25. How are 0.50molNa;CO3 and 0.50MNayCOs5

different?

o Watch Video Solution

26. If ten volumes of dihydrogen gas reacts with five

volumes of dioxygen gas, how many volumes of water


https://dl.doubtnut.com/l/_GlALUONbCFC5
https://dl.doubtnut.com/l/_WbNn7IsBc5Cf
https://dl.doubtnut.com/l/_eWBcpmnJ1ipi

vapour would be produced?

o Watch Video Solution

27. Convert the following into basic units:
a.28.7pm
b. 15.15pm

c. 25365mg

0 Watch Video Solution

28. Which one of the following will have the largest number
of atoms?
(i) 1Tg Au (s)

(i) 1 g Na (s)


https://dl.doubtnut.com/l/_eWBcpmnJ1ipi
https://dl.doubtnut.com/l/_btxJk5qCWMhe
https://dl.doubtnut.com/l/_3ZOEcQLUccz1

(iii) 1 g Li (s)

(iv) 1 g of Cls(g)

O Watch Video Solution

29. Calculate the molarity of a solution of ethanol in water

in which the mole fraction of ethanol is 0.040.

o Watch Video Solution

30. What will be the mass of one .12 C' atom in ¢?

O Watch Video Solution



https://dl.doubtnut.com/l/_3ZOEcQLUccz1
https://dl.doubtnut.com/l/_IJfgVDPpsJdE
https://dl.doubtnut.com/l/_afOHSE7Es0KZ

31. How many significant figures should be present in the

answer of the following calculations?

0.02856 x 298.15 x 0.112
0.5785

b.5 x 5.364

a.

c. 0.0125 + 0.7864 + 0.0215

o Watch Video Solution

32. Use data given in the following table to calculate the

molar mass of naturaly occuring argon isotopes:

Isotope  Isotopic molar mass Abundance

36 Ar 35.96755gmol ~ 1 0.337 %
38 Ar 37.96272gmol ~ ! 0.063 %
A0 A 39.9624gmol ~1 99.600 %

° Watch Video Solution



https://dl.doubtnut.com/l/_bFQzSN066eJG
https://dl.doubtnut.com/l/_bh4kDNrwWQYc
https://dl.doubtnut.com/l/_4HCzHAhBQy0Z

33. Calculate the number of atoms in each of the following

(i) 52 moles of Ar (ii) 52 u of He (iii) 52 g of He.

o Watch Video Solution

34. A welding fuel gas contains carbon and hydrogen only.
Burning a small sample of it in oxygen gives 3.38 g carbon
dioxide, 0.690 g of water and no other products. A volume of
10.0 litre (Measured at STP) of this welding gas is found
weigh 11.6¢. Calculate

(i) empirical formula,

(i1) molar mass of the gas, and

(iii) molecular formula.

O Watch Video Solution



https://dl.doubtnut.com/l/_4HCzHAhBQy0Z
https://dl.doubtnut.com/l/_Uh85Jey1zIZO
https://dl.doubtnut.com/l/_eF1i6mRn2lo3

35. Calcium carbonate reacts with aqueous HCI to give
CaCly and CO, according to the reaction:

CaCOs(s) + 2HCl(aq) — CaCly(aq) + CO5(g) + HyO(1)
What mass of CaCOj is required to react completely with

25mL of 0.7T5MHCI?

O Watch Video Solution

36. Yellowish-green gas chlorine (Cly) can be prepared in
the laboratory by heating hydrochloric acid (HCI, aq) with
pyrolusite (manganese dioxide, MnQO»):

4HCl(aq. ) + MnOy(s) — Cly(g) + 2H,0(l) + MnCly(ag. )

How many grams of HCI reacts with 5.00g of manganese

dioxide?


https://dl.doubtnut.com/l/_eF1i6mRn2lo3
https://dl.doubtnut.com/l/_BxwVLxZX4Obm

o Watch Video Solution



https://dl.doubtnut.com/l/_BxwVLxZX4Obm

